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Chemistry 12
EQUILIBRIUM Lesson #8
EQUILIBRIUM CALCULATIONS CONTINUED

EXAMPLE E
Kgg=3.5for503(g+N09@3803(g3+N0@.

If 4.0 mol of SO4(g) and 4.0 mol of NO3(g) are placed In a 5.0 L bulb and
allowed to come to equilibrium, what concentration of all species will exist at
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A 1.0 L reaction vessel contained 1.0 mol of S( 2 , 4.0 mol of NO;A
4.0 mol of SO3 and 4.0 mol of NO[a (at equ111br1um1 according to:
SO2 (g) + NOp (8)=== 503 (g) + NO (g).

IfM\IS added to the mixture, what will be the new
concentration of NO when equilibrium is re-attained?

NN
= Wrie o Are Yo RO ye - %;g&ws

: pc ‘ 7) L/wwf
\J\ eV Worinm Lhy 60\& L\Q\( 1_ -E' \.DN»Q s | R
[Hu‘) ('{u _F\;\ _\.u\,

Y@C’L" 1o \He) — O 3_?_3-—“’“—9—“— = .o+

oL
Y Ao v wo c,\m\éc MAQM,? )
¢ QO VBRI Wi\ mMu \ae. L{\) :

2) The (\do\v\vof\% %0(\,@9 \/OJUL \ne Shovon L e

TN e e CE TPRLE )
\_E/’j&: A + NUL Cb\ 1 5(/3(3) =Y M\“(SB
gl

[0 e *°

mw LT;L]

e VoW

t 4ox ‘\ _ solwe bor
kﬁ 0.0 CAV\J P PRV SIVATV ( \ S ’}\"’
1. Vse ey (Hoxxy o, IO e
& \//‘ LA o-x)* s H,o-<X
\/ 2-:’;\}{ 0\‘%) = Yeor X
SEAT WORK/HOMEWORK: Exercises 55-65 pgs 71 72 O —-2J0x = {.O &



